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A signal is anything that is used to convey information. Analog signals are continuously variable, but in
this course the focus will be put on digital signals. Digital signals are signals that are made up of discrete values.
Some advantages of using digital signals are as follows:

1. Flexibility and programmibility
2. More immune to noise

3. Signal reproducibility

4. Ease of maintenance and troubleshooting

(V31

. Signal storage

Furthermore, a signal can depend on any number of variables. A signal that only depends on one variable
is considered one-dimensional. This course will primarily be directed towards these one-dimensional signals.

One example of the many use cases for digital signal processing is speech processing. This can include
another range of topics such as speech recognition, speech enhancement, and speech encoding and compression.



Chapter 1

Discrete Time Signals

1.1 Uniform Sampling

The first step to uniform sampling is to discretize the time axis. Uniform sampling converts a continuous time
signal, x(t) into a discrete signal by considering the samples of x(f) at uniform times, { = nT;; where n is an
integer and T; is the sampling period.

The Dirac Delta function, or the impulse function is defined as:

0 t<0
O(f)=qo0 t=0
0 t>0

The strength of the impulse function is typically defined to be unity. This is more rigorously given by:

[ee]

/ s(tydt =1

—00

The sampling property of the impulse function is defined as:

F(D)d(t = to) = f(to)o(t - to)

The sifting property of the impulse function is given by:

/ FOO(E - to)dt = f(to)

To sample a signal, x(t), uniformly through time, an impulse train is used. Each sample of the signal can be
written in the form:

x(£)0(t — nTy)

Therefore, the resulting sampled signal at all times, £, is given by:

5 =x0) ) 8 -,

n=—0oo

The signal, Ximp(t), is a continuous and periodic function with period, T;. It is given by:

[ee]

Ximp(t) = )" 6(t = nT)

n=—oo



Since the definition of the Fourier series states that any continuous and periodic signal can be represented as a
linear weighted combination of complex exponentials, we can rewrite Xinyp(#) in terms of a complex Fourier series:

(o]
Ximp () = Z Xye/ Kt

k=—00
Where:

Xy are the Fourier series coefficients

Q)s is the angular sampling frequency defined as Qg = 2T—7:

Since () is entirely dependent on T;, the only unknown is the values of the Fourier series coefficients, Xy. These
coefficients can be found by:

Ts
2
Xy = l/ 5(t)e Tkt 4y
T;

=I5
2

In this case, Xj is always TL Therefore, the Fourier series definition for Xipp(#) is:

1 .
Ximp(t)z Z Te]stt

k=—c0 °

To sample x(t) and get x5(f), simply take the product of x(t) and Ximp(f):

(]

()= Y (e

k=—0c0

This sampled signal is called a discrete signal or a digital signal. While working with xs(f) in this form is not
often practical, taking a Fourier transform gives more insight.

F[6(t —a)] = e/
x(t) & X(Q)
x(t —a) il X(Q)e 19

, F
x(H)el™ Mt = X(Q - Q)
Using these properties, the Fourier transform of x,(f) is:

[ee]

Flx,(t)] = F Tl 3 x(ppein et
XS(Q):% i F [x(t)el" ]
X@=+ ) X@-n0,)

X,(Q) = %X(@)

Theorem 1.1.1 The Sampling Theorem

A band-limited signal, x(t)—its low-pass spectrum X(Q) is such that X(Q) = 0 for |Q| > Q. where Q¢
is the maximum frequency in x(f)—can be sampled uniformly and without frequency aliasing (overlap
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between spectral copies) using a sampling frequency of Q, = 2T—’: > 2Q) called the Nyquist sampling rate

condition.

Example 1.1.1 (Sampling Theorem)
A signal, x(t), is given by:
T
x(t) = 2cos(27tt + Z)

Since there exists a maximum frequency, in this case, 1[Hz], x(¢) is considered a band-limited signal.

fs = 2fm
fs = 2[Hz]

1
T; < 3 [samples/s]

A good figure of merit is to let Q. be the frequency such that 99% of the signal energy is in the interval
[-Qumax, Quax]. The signal energy in the time domain is given by:

Ex:/|x(t)|2dt

Using the Perseval’s relationship, the signal energy can be computed using only knowledge from the frequency
domain.

— 1 2
E, = 2n/|X(w)| dt

1.2 Characterizing Discrete Signals in the Time Domain

Definition 1.2.1: Causal Signal

x[n] is said to be a causal signal if x[n] has zero value for n < 0.

When a signal, x[n], is discritized following the sampling theorem, it domain is the integers, and it can take real
and complex values.

Definition 1.2.2: Anti-Causal Signal

x[n] is said to be an anti-causal signal if x[n] has zero value for n > 0.

At n =0, a causal signal can have a nonzero value, but an anti-causal signal cannot.

Definition 1.2.3: Finite Support Signal

x[n] is said to have finite support if there exists integers, Ny and Na, such that x[n] has zero value for
n < N7 and N5, where Ny < Nj.

Finite support signals have a finite domain, and for discrete signals, finite values of n that correspond to a non-zero
signal value.

Definition 1.2.4: Infinite Support Signals

x[n] is said to have infinite support or infinite duration if it does not have finite support.




For infinite support signals, there do not exist two integers, N; and Ns, such that x[n] = 0 for n < N; and
n > Ns. Infinite support signals exist in the following forms:

1. Right-sided signal: N <n < o
2. Left-sided signal: —co <n < N

3. Two-sided signal: —co < n < 00

Definition 1.2.5: Discrete Impulse

The impulse signal can be written in the discrete domain as:

6[n]={1 n=_0

0 otherwise

\. .

Since the discrete impulse signal has a non-zero value only at n = 1, it is a causal signal with finite support.

Example 1.2.1
Consider the signal, x[n] = 6[n —a]:

0 n<a
Oln—al=41 n=a
0 n>a

Since x[n] has a non-zero value only at n = a, it is a finite support signal. If a > 0, the signal is causal,
but if a < 0, the signal is non-causal. In this case, if 2 < 0, then it is also an anti-causal signal.

Any finite support signal can be represented in terms of discrete impulses.

Definition 1.2.6: Discrete Unit Step

The discrete unit step, u[n] is defined as:

u[n]={1 n>0

0 otherwise

The discrete unit step has right-sided infinite support and is a causal signal. The signal, u[—n] is defined as:

u[—n] = {1 n<0

0 otherwise

u[—n] has left-sided infinite support, but it is neither causal nor anti-causal.

1.3 The Norm of a Discrete Signal

Definition 1.3.1: Norm of a Discrete Signal

The mapping of a signal to a value in the range, [0, ).




Definition 1.3.2: The Lp Norm

Given a discrete time signal, x[n], the L, norm of the signal is:

1/p
[Z |x[n]|P]

Example 1.3.1 (L, Norm)

x[n]=[3 -5 7 -5 -9]
Find the L1, Ly, and Le norms:

L1 norm:
Z|x[n]| =3+5+7+5+9=29
n
Lo norm:
1/2
lz |x[n]|2] = 5qrt9 + 25 + 49 + 25 + 81 = V189 = 3V21
n
Lo norm:

max |x[n]]| =9

Example 1.3.2 (L, Norms with Complex Numbers)

x[n]=[3+j -5+j3 —7-j 9-j4 10]

L1 norm:
Z |x[n]| = \/E+sqrt34+ V50 + V97 + 10
n
Lo norm:
1/2
lz |x[n]|2] = V10 + 34 + 50 + 97 + 100
n
Lo norm:

max |x[n]| = 10
Example 1.3.3

xnl=[1 j 1 j 1 j 1 j -],nezZnf0,99]

L1 norm:

Z |x[n]| = 100



Lo norm:

n

1/2
[Z |x[n]|2l =100 = 10

L norm:
max |x[n]| =1

1.3.1 Geometric Series

There are two types of geometric series: finite and infinite.

Definition 1.3.3: Infinite Geometric Series )

Infinite geometric series are of the form:

Sm

anzl—s

n=m

If |s| < 1, the series will converge, and if |s| > 1, the series will diverge.

Definition 1.3.4: Finite Geometric Series A

A finite geometric series is of the form:

N-1
2,
n=0

If s = 1, the series converges to N, otherwise the series can be evaluated by:

Z

=l

S}’l

0

1-sN
T 1-35

n

Example 1.3.4 (Norms of Geometric Series)

x[n] = (=0.5)"u[n]

L, norm:
_ _NEV — I
D llnll= ) l05y =) 5 =2
n n=0 n=0
Lo norm:
1/2 o 1/2 o 1/2 1/2
1" 1 4
2 _ _ n|2 - - = = _
[Z il l - lZI( 0.5 l [24 ] (=vm) V3
n n=0 n=0
Lo norm:

max |x[n]| = max(0.5"),n € Ny =1

For geometric series, if s < 1, the Lo, norm will occur at the smallest n in the series.Conversely, for geometric
series where s > 1, the Lo norm will occur at the largest n in the series.




1.4 Elementary Operations on Signals

An elementary operation operates on each element of a signal. Consider two signals, x[#] and h[n]. Assume that
the two signals are sampled at the same frequency.

n | x[n] | h[n] | x[n]+ h[n] | x[n] - h[n] | x[n]h[n]
-2 3 3 3 0

-1 -5 -7 -12 2 35

0 2 3 5 -1 6

1 -6 10 4 -16 -60

2 9 21 30 -12 289

3 -16 -16 16 0

4 6 6 -6 0

5 -3 -3 3 0

In addition to these element-by-element arithmetic operations, elementary operations may also manipulate the
input space.

A signal may be time delayed by a in the form h[n —a]. Signals can be advanced by a in the form h[n +a]. Time
may also be reflected around n = 0 in the form h[-n]. Perhaps the most interesting operation is the circular
shift.

Definition 1.4.1: Circular Shift

The circular shift is a time shifting operation on a finite length sequence that results in another sequence of
the same length and defined for the same range of values of n. The domain of the signal will be unchanged.

The modulus operation:
r=mmod N = (m)y

Another type of discrete elementary operation is the signal rate operation. This involves adding or removing
samples.

Definition 1.4.2: The Downsample Operation

The downsample or sub-sample operation on a signal, x[n] is given by:

y[n]l=x[Mn],M e Z

This downsamples from every n to every M sample from x[n]

. J

fs

When downsampling, the sampling frequency f; becomes 57, and the sampling time, Ty becomes MT;.

——+ Note: $

!
To avoid aliasing, f; > 2f,,. Beware that downsampling may cause aliasing by decreasing f; too much.

On the other hand, a signal may also be upsampled.

Definition 1.4.3: The Upsample Operation

Sampling frequency increases by a factor of M.

y[n]:x[%],MeZ

This will insert M — 1 zeros between successive samples of x[n].




Example 1.4.1 (Upsampling)

x(n]=[1 2 3 4]
M=4
yln]=[1 0 0 0 2 --- 4]

When upsampling, the sampling frequency, fs becomes M f;, and the sampling time, T; becomes %
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Chapter 2

Discrete Systems

A discrete system is any system that takes a discrete signal as input and produces a discrete signal as output.

x[n] = [S]— yln]

2.1 Properties of Systems

2.1.1 Linearity

For a system to be considered linear, it must satisfy two conditions: homogeneity and superposition.

Homogeneity

For a system to be homogeneous, a scaling of the input by a constant, a, must produce an output scaled by that
same constant, a.

yln] = S[x[n]
ay[n] = S[ax[n]]

Superposition

For a system to satisfy superposition, taking the sum of two inputs x1[n] and x3[n] as input must produce the
sum of their individual outputs y1[n] + y2[n].

yaln] = S[xi[n]]

yo[n] = S[xz[n]]
valn] +y2ln] = S[xi[n] + x2[n]]

2.1.2 Time Invarience

For a system to be considered time invariant, delaying or advancing the input must lead to the same delay or
advance in the output.

yln] = S[x[n]
yln —a] = S[x[n - a]]

2.1.3 Causality

For a system to be considered causal, the output must only rely on past and present inputs; it cannot depend on
any future inputs.
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2.1.4 Bounded Input, Bounded Output (BIBO) Stability

A system is BIBO stable if every bounded input has a corresponding bounded output.
A bounded input is of the form:
|x[n]| < By < o0,Vn

A bounded output is of the form:
ly[n]| < By < o,Vn

—+ Note: }

For unbounded inputs, outputs do not have to be bounded.

Example 2.1.1 (Properties of Downsampling)

The definition of the downsampling operation:

yln] = S[x[n]] = x[Mn]

Homogeneity
Slax[n]] = ax[Mn]

sy[n] = ax[Mn] — The system is homogeneous.

Superposition
valn] = S[xa[n]] = x1[Mn]
ya[n] = S[xz[n]] = x2[Mn]
S[xy[n] + x2[n]] = x1[Mn] + xo[Mn] = y1[n] + y2[n] — Superposition holds.

Time Invariance
S[x[n —a] = x[Mn — a]
yln —a]l = x[M(n —a)] = X[Mn — Ma] # S[x[n — a]] — The system is not time invariant

Causality

For any value of M greater than 1, and n greater than 1, Mn will always be greater than n, therefore
relying on future inputs.

BIBO Stability
If |x[n]] is bounded by B, for all n, then the output is bounded by B, = By for all n.

2.2 LTI Systems

Linear and time-invariant (LTI) systems are simple systems that are very useful for modelling.

Definition 2.2.1: Impulse Response

The output of a system when the Dirac delta (impulse) function is applied as input.

For discrete systems, the impulse response is given by h[n] as opposed to the h(t) for continuous systems.

Properties of the Discrete LTI Systems

1. The system is causal if the umpulse response is a causal signal
12



2. The system is BIBO stable if the impulse response is absolutely stable

> h[n]| < oo

n

3. y[n] is computeable for any x[n]

The Integral Test

Given a continuous, positive, and decreasing function in the interval [1, ), the indefinite integral and sum either
both converge or both diverge.

Convolution

If the input to the LTI system is x[n] and the impulse response of the LTI system is k[n], the convolution of x[n]
and h[n] is given by:

yln] = x[n]+hln]
In the continuous case, the convolution of x(f) and h(t) is given by:

(]

y(t) =x(t)*h(t) = / x(t)h(t — 1)dt

—00

In the discrete case, the convolution of x[n] and h[n] is given by:

[se] [ee]

y[n] = x[n]*h[n] = Z x[k]h[n - k] = Z h[k]x[n - k]

k=—0c0 k=—c0

2.3 Periodicity
A periodic continuous signal with period T is given by:
x(t) = x(t — kT)
A periodic discrete signal with integer period N is given by:
x[n] = x(t —kN)
The period of a discrete signal must be an integer because discrete signals are only defined at integer intervals.

If two discrete signals, x[t] and y[f] are periodic with periods Ny and Na, the period of the sum of the sig-
nals is the least common multiple of N; and Ns. If even one signal in a sum of signals is aperiodic, then the
entire sum becomes aperiodic.

In the continuous time domain, sinusoidal and complex exponential signals are always periodic. For discrete
signals, however, it is not as simple. A cosine in the discrete domain takes the form:

x[n] = cos(won + @)
By the definition of periodicity, for x[n] to be periodic with period N:
x[n] = x[n + N] = cos(wo(n + N) + ¢)
By distributing wg and applying a trigonometric identity:
x[n + N] = cos(won + @) cos(woN) — sin(wen + @) cos(woN)

Therefore, for x[n] to equal x[n + N], the sine terms must go to 0 and cos(woN) must be unity. If wg is an integer
multiple of 27, this condition will be satisfied.

13



Example 2.3.1 (Periodic Sampling)

Given a signal cos(ntn), what is it’s corresponding integer period?

wog =TT
woN = 2ntr
nN = 2mr

N =2r

The smallest integer r resulting in an integer N is r = 1. For r = 1, N = 2, therefore the signal is periodic
with N = 2.

Example 2.3.2 (Aperiodic Sampling)

Given the signal cos(emtn + 711/9) find it’s corresponding integer period.

o = eTt
woN = 2mr
entN = 27ty

2

N =-r

e

There is no integer r such that N is an integer. Therefore the original signal is not discretely periodic.

2.4 Energy and Power

2.4.1 Energy

For a continuous signal, x(f), the total energy is given by:

a=/mwm

Similarly, for a discrete time signal, the total energy is given by:
Ee= ) |x[n]l®

n

which is the same as the square of the L-2 norm of x[#n].

2.4.2 Power

The power of a signal is calculated slightly differently for periodic and aperiodic signals. For discrete, periodic
signals with period, N, the power is given by:

1I\J—l
_ - 2
m—N;MMI

For aperiodic discrete signals, the power is given by:

k
. 1 2
Pe= I oke nZ—:k (]l

14



—+ Note: }

Periodic signals have infinite energy and finite power, while aperiodic signals with finite energy have zero
power.

Example 2.4.1

Given [x] = 3(=1)"u[n] compute the energy and power. Since x[n] = 0 for n < 0, the signal is aperiodic.

Ex =) |x[n]]?
n
E. = ) [8(-1)"2
n=0
= Z 9 >
n=0

Given that the signal is aperiodic, the power is given by:

k
1
= 2
o= lim gy 2, bl

k
P
* k—)oo 2k z:l
. 9(k+1
i
By L’hopital’s rule,
.9 9
P,=1lim - = -
k—oo 2 2

15



Chapter 3

3.1 The Discrete Time Fourier Transform

3.1.1 Derivation of the Discrete Time Fourier Transform

Consider the signal x4(t) given by:

x,()= Y x(H)5(t —nT)
n=—00
Apply a Fourier transform:
Flas®)] =F | ) x()s(t - nT,)
n=—co

By the sampling property of the impulse, x(¢)6(t — nT;) becomes x(nTs)o(t — nTy).

[ee]

D x(nT)5(t - nT,)

n=—oo

Flxs ()] =F

The sum and x(#) may be taken out of the Fourier transform:

[ee]

Flxs(®)] = > x(nT)F[5(t - nT,)]

n=—o00

The Fourier transform of the impulse is unity, and the delay by nT; becomes a complex exponential:

(o]

X(@Q = ) alnTJe7 "

n=—oo

If T; is unity, then simplification is possible. Converting x[nTs] to x[n] yields the discrete time Fourier transform:

(o]

X(e7/v) = Z x[n]e i®n

n=—o00

——+ Note: }

Q) is the continuous angular frequency while w is the discrete angular frequency.

OT; = w

This is a natural extension of the continuous Fourier transform:

(o]

X(Q) = / x(H)e~dt

—00

X(e/® is periodic with a period of 27.
16



Definition 3.1.1: Discrete Time Fourier Transform

X(e/?) = Z x[n]e=i®n
n=—0o0
Example 3.1.1 (DTFT of the Impulse)
Consider x[n] = 6[n]. Find the DTFT of x[n].
X(e/¥) = Z x[n]e i®n
n=—oo
X(e/@) = Z S[n]eion
n=—co

The expression in the sum has a non-zero value only at n = 0, therefore the sum only has one term.

X(el®) = 710 =1

Example 3.1.2 (More Complicated DTFT)
Consider x[n] = a”u[n]. Find the DTFT of x[n].

[ee]

X(e/®) = z x[n]eien

n=—0oo

Since u[n] only has a non-zero value for n > 0, the sum can be simplified to:

[ee]

X(e/¥) = Z alte~jon

n=0

Since both terms in the sum have n in the exponent:
X(e/?) = Z(ae‘j“’)"
n=0

The sum has the form of a geometric series, which can be evaluated by:

[e+]

Sm
= |s| <1
Z 1 —s’lsl
n=m
Since |e7/®| =1, |s| = |a|. Therefore:
Fla"u|n]] = _ —,lal <1
1-ae i@

3.1.2 Properties of the Discrete Time Fourier Transform
1. The DTFT is a linear operation.
2. If a signal is delayed or advanced (x[n — a]), the DTFT is scaled by e™/®%.

3. The DTFT of nx[n] is j--(X(e/?))

dw

S

. The DTFT of the convolution, x[n] * h[n], is the same as the product of the DTFT of the two signals.

17



Example 3.1.3 (Time Multiplication Property)
Consider x[n] = na"u[n]. Find the DTFT of x[n]. Since the DTFT of a”u[n] is known to beﬁ, by
the time multiplication property of the DTFT, the DTFT of x[n] is:

o d 1
X(EJ ) = ]% |:—1 _ae—ja):|

—+ Note: }

If x[n] is absolutely summable (}; |x[n]| < co) then the DTFT exists.

3.1.3 Special Cases

In some special cases, the DTFT exists, but the corresponding time domain signal is not absolutely summable.

Example 3.1.4 (Ideal Lowpass Filter)

Consider the transfer function of an ideal lowpass filter, with cutoff frequency, w,.

18



Chapter 4

The Z-Transform

Recall the Laplace transform is defined as:

X(s) = [mx(t)e_Stdt

(&)

where s is a complex variable. The analogous transform in the discrete domain is called the Z-transform, which
is given by:

X(z) = Z x[n]z™"

n
where z is a complex variable. The region of convergence of a Z-transform is the set of all z for which the sum
converges.

Example 4.0.1 (Z-Transform of causal finite support signals)
Given a causal, finite support signal, x[n] = [a b ¢ d] ,0 <n < 3. Find its z transform.

3

X(z) = Z x[n]z™"

n=0
X(z)=a+bz t+cz?+dz73

The region of convergence is all values of z except z = 0.

Example 4.0.2 (Z-Transform of anti-causal finite support signals)
Given the finite support, anti-causal signal, x[n] = [a b ¢ d] ,—4<n<-1.

=1l

X(z) = Z x[n]z™"

n=—4
X(z)=azt +bz* + cz? + dz

The region of convergence is all values of z except z = 0.

Example 4.0.3 (Z-Transform of causal nor anti-causal signals)

Given the finite support signal, x[n] = [tl b ¢ d] ,—2<n<1.

1

X(z) = Z x[n]z™"

n=-2

X(z)=az? +bz+c+dz?

19



The region of convergence is all z except z =0 and z =

For finite support, discrete signals, the region of convergence is always the entire z-plane with the possible
exception of z =0 and z = oo.

Example 4.0.4 (Z-Transform of the discrete unit impulse)
Given x[n] = 6[n]:
X(z) = Z =[n]z™"

X(iz)=1

The region of convergence is the entire z plane.

Example 4.0.5 (Z-Transform of infinite support signals)
Given the infinite support signal, x[n] = a"u[n]:

[ee]

X(z) = Z a*z™"

n=0
The common exponent, 7 can be taken out to put it in the form:
Sm

anzl—s

n=m

where s = az™! in this case. This sum will converge as long as |az™| < 1. In simpler terms, the sum will

converge when |z| > |a|.
Since z is a complex variable, it can be described in a polar form:
z =rel?
where 7 is the magnitude and 6 is the phase angle.
If a region of convergence (ROC) does not include the unit circle, then its DTFT does not exist except for

special case signals. If the ROC does contain the unit circle, then the DTFT can be found by substituting
z =el?.

4.1 7 Transform Transfer Functions

Recall that the impulse response of an LTI system completely characterizes the system. It can be used to determine
responses of other systems via convolution, and it is a useful tool in determining the BIBO stability of the system.

Given an impulse response to a discrete LTI system, the Z-transform of the impulse response is called the transfer
function

H(z) = Z[h[n]] = Z hn]z™"

An LTI system is causal if h[n] is a causal signal. This is the same as if the ROC of H(z) includes z = co. These
conditions are equivalent because the ROC of a Z-transform only contains z = oo for causal signals.

Additionally, an LTI system is BIBO stable if h[n] is absolutely summable.

D Ihln]| < oo

20



The equivalent condition for H(z) is the ROC of H(z) must include the unit circle. These conditions are equivalent
because the DTFT exists when the unit circle is in the ROC, and the DTFT only exists when the signal is
absolutely summable.

—+ Note: }

For causal systems only, BIBO stability is achieved if all the poles of H(z) are inside the unit circle. Since
non-causal systems do not include z = oo in the ROC, this test will not hold for non-causal systems.

If the impulse response h[n] has finite support, then the output, y[n], given an input, x[n], can be found by

convolution.
N-1

ylnl = hinl«x[n] = > h[k]x[n - k]
k=0
However, if the impulse response hi[n] has infinite support, the output, y[n], is given by a constant coefficient
difference equation.

N M
D aljlyln = j1= ) blklxn — k]
j=0 k=0

where a[j] are the constant coefficient of the output, and b[k] are the constant coefficients of the input.

Example 4.1.1
Given the infinite impulse response:
h[n] = a"uln]

The transfer function of the system is:
z

H(z) = z—a

with a ROC of |z| > |a|. Since this includes z = oo, the system is causal. If |a| < 1, then the system is also
BIBO stable.

oz Y(2)
H(Z) =T 2 = m
Y(z) 1
X(z) 1-azl

Y(z) —az 'Y (z) = X(2)
Taking the inverse Z-transform:

yln] —ayln —1] = x[n]

y[n] = x[n]+ay[n —1]

Since the output relies on both the input and the previous output, the recursive implementation of the
input-output relationship is used.

Example 4.1.2

Given the impulse response,
hin] = na™u[n]
the corresponding transfer function is
az
(z—a)?
with ROC, |z| > |a|. Since the impulse response is causal, the system is causal. Equivalently, since the

ROC includes z = oo, the system is causal. Given this region of convergence, the system is BIBO stable if
and only if |a| < 1.

H(z) =

HE = 27 = x6)
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az az
H(z) = =
@) z2 —2az +a? z2(1-2az71+a2z72)

az"1X(z) = Y(z) - 2az7Y(2) + a®272Y(2)

Taking the inverse Z-transform to find the input-output relationship:
x[n - 1] = y[n] - 2ay[n — 1] + a®y[n - 2]

y[n] = x[n - 1] + 2ay[n — 1] - a®y[n - 2]

Example 4.1.3

hin] = u[n] —u[n — 4]
hn]=[1 1 1 1],0<n<3

H(z) = Z hnlz"=1+z14+2z724273
n

For finite support signals, the Z-transform is the entire Z-plane with the possible exception of z = 0 and
z = oo. Checking z = 0 reveals a pole, but z = co works, so the system is causal. All finite support impulse

responses (FIR) are BIBO stable.
3
ylnl = > hlklx[n K]
k=0
y[n] = h[0]x[n] + h[1]x[n — 1] + h[2]x[n — 2] + K[3]x[n — 3]

4.2 The Inverse Z-Transform

Given the causal signal x[n] = a"u[n], its Z-transform is X(z) = ;% with region of convergence |z| > |a]. Given
an anti-causal signal x[n] — a"u[-n — 1], its Z-transform is X(z) = ;% with region of convergence |z| < |a|.

Consider the following second-order LTI system whose transfer function is given by:

z(z —0.2)

H@ = 08z -09)

If the system is causal, then the ROC includes oo, so the ROC must be |z| > 0.9. In this case the system would
be BIBO stable. However, if the system is anti-causal, then the ROC must include 0 and therefore would be
|z] < 0.8. In this case, the system would not be BIBO stable. If the system is two-sided, then the ROC would be
0.8 < |z| < 0.9. In this case the system would also not be BIBO stable.

H(z)

Find the partial fraction expansion of —=:

H(z) _ z—-0.2 A N B
z  (z-08)(z-0.9 z-09 z-0.8

z-02=(z-0.8)A+(z-0.9)B

B=-6,A=7
Hiz) _ 7 6
z  z-09 z-08
H(z) = Tz 6z

2-09 z-08
Apply the inverse Z-transform on both sides. If the system is causal:

hin] = 7(0.9)"u[n] — 6(0.8)" u[n]
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If the system is anti-causal:
hln] = =7(0.9)"u[-n — 1] + 6(0.8)" u[-n — 1]

If the system is two-sided:
hin] = =7(0.9)"u[-n — 1] — 6(0.8)" u[n]

—+ Note: }

For FIR systems, if the Z-transform does not converge at |z| = 0 or |z| = oo, they are not considered poles,
because only ITR systems can have poles.
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Chapter 5

The Discrete Fourier Transform

The discrete Fourier transform is the sampled DTFT. Since the DTFT is a continuous function, it cannot be
analyzed in the same way as a discrete signal. The N-point DFT is defined as:

N-1

X[k] = Z x[n]WEn

n=0

where WI]\‘] = ¢~J2mk/N

Example 5.0.1
Find the N-point DFT of x[n] = u[n] — u[n — N].

N- _
le”: 11‘55 s#1
N s=1

n=0
When k = 0:
N-1
X[0]= > ()" =N
n=0
When k # 0:
1-WiN
= —k =
1-Wy

These points are zero because they correspond to the zero-crossings of the sinc function, which is the
Fourier transform of a unit pulse.

5.1 The Inverse DFT

Example 5.1.1
The 10-point DFT of x[n] is given as:

X[k] = 26[k] + 1,k €[0,9] N Z

Find the 10-point signal x[n]
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Chapter 6

FIR Filter Design

Consider h[n] with finite support 0 < n < M. The filter is said to have an order M with M +1 taps or coefficients.
FIR systems are always BIBO stable. Focus will be on Type-1 FIR filter, where M is even, so the number of taps
is odd, and h[n] is symmetric over the center coefficient h [%]
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